What is the gravitational field strength on the moon? How
much would you weigh on the moon? Mass and radius of
moon are provided on formula sheet.

An 80 kg person is on a planet the same size as earth.
Determine the mass of the planet if his weight on the
surface is 650 N.

How high above the surface of earth would a person with
mass 68 kg experience a gravitational force of 250 N?

Two objects of equal mass are separated by 5.0 m. The
gravitational force that they exert on each other is
1.0 x 102 N. determine the mass of each object.



A rock is dropped from a height of 6.0 m on a newly
discovered planet. The rock reaches the ground in 0.88 s. If

the planet has a mass of 7.77 x 1024 kg, what is the radius
of the planet?
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An 80 kg person is on a planet the same size as earth.
Determine the mass of the planet if his weight on the
surface is 650 N.
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How high above the surface of earth would a person with
mass 68 kgfexperience a gravitational force of 250 N?
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Two objects of equal mass are separated by 5.0 m. The
gravitational force/that they exert on each other is
1.0 x 102 N. determine the mass of each object.
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A rock is dropped from a height of 6.0 m on a newly
discovered planet. The rock reaches the ground in 0.88 s. If
the planet has a mass of 7.77 x 1024 kg, what is the radius

of the planet?
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